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11 ≦≦x より 01,01 ≦≧  xx  xxxx  11,11  

 
32

32223233

2cos26

3312cos133)1(2cos)1()(









xx

xxxxxxxxxxxf
 

 450  より 1cos
2

1
    9020  より 12cos0    

 

2cos1  x≦ のとき 32 )2(cos26)( xxxf    

   2cos)22(cos23)2(cos312)( 222  xxxxf  

 

0)(  xf を解くと 

 
22

22222

)1cos2(cos221cos2

cos221cos212cos21cos22cos)22(cos22cos







x
 

 0)1cos2(2)1cos2(2cos 2    0)1cos2(22cos)1cos2( 2    

 

12cos ≦≦x のとき 32 )2cos(26)(  xxxf  

   2cos)22(cos23)2cos(312)( 222  xxxxf  

 

0)(  xf を解くと 

 




2cos0)1sin2(sin221sin2

sin221sin22cos121cos22cos)22(cos22cos

22

22222



x
 

 

以上により、 11 ≦≦x における )(xf の増減は下の通り。 

)(xf の最小値を与える xは 2)1cos2(  x  ……(答) 

 

 

x  1  … 2)1cos2(   … 2cos  … 1 

)(xf    － 0 ＋ ＋ ＋  

)(xf         

 


